
 

27-05-20 Page 1 of 2  3783136 

     

 If you have any queries regarding the installation of this product please contact the distributor from whom it was purchased, or alternatively the ARB office in your state. 
Head Office – ARB Corporation Ltd VIC: 42-44 Garden Street, Kilsyth, Victoria, 3137 Tel: (03) 9761 6622 Fax: (03) 9761 6807 

WA:(08) 9244 3553  NSW: (02) 9821 3633  ACT: (02) 6280 7475  SA: (08) 8244 5001  QLD: (07) 3872 3872  NT: (08) 8947 2262  TAS: (03) 6331 4190 

 

ARB TOURING AWNING 
PART No 3700200 UNIVERSAL AWNING KIT  

USE PART No QTY DESCRIPTION 

 

ATTACHING ARB TOURING 
AWNING TO ROOF CAGE 

3756711 3 AWNING BRACKET UNIVERSAL  

6151184 6 BOLT M8 x 30mm CAP SCREW S/S 

4581094 6 WASHER M8 SPRING S/STEEL 

4581081 6 WASHER M8 FLAT S/STEEL 

4581072 6 WASHER M6 FLAT 

 

PART No 3721200 TOYOTA PRADO 03 ON AWNING KIT  

USE PART No QTY DESCRIPTION 

 

ATTACHING ARB TOURING 
AWNING TO ROOF CAGE 

3756718 3 AWNING BRACKET PRADO  

6151184 6 BOLT M8 x 30mm CAP SCREW S/S 

4581094 6 WASHER M8 SPRING S/STEEL 

4581081 6 WASHER M8 FLAT S/STEEL 

4581072 6 WASHER M6 FLAT 

TOOLS REQUIRED, 10mm spanner, 6mm Allen key 
 

1. Choose which side of the vehicle you wish to mount the awning.  

2. Remove the six retaining bolts attaching the roof cage to the mounting brackets along the 
side chosen for the awning. (fig.1) Discard the bolts but retain the three nut plates. 

 

RETAINING BOLTS 



27-05-20 Page 2 of 2      3783136 

3. Carefully lift the roof cage clear of the mounting brackets and slide the awning brackets 
between the two. (fig.2) 

 

4. Using the M8 x 30mm bolts, M8 flat and spring washers supplied with awning kit and the 
nut plates removed in step 2, re-attach the roof cage to the mounting brackets. Do not 
tighten. 

5. Six M6 bolts are supplied with the awning. Slide these bolts into the bottom two channels 
of the awning (three each channel) and position them approximately the same distance 
apart as the awning brackets. 

6. With the help of another person, lift the awning onto the brackets positioning the bolts as 
necessary. 

7. Using the flat washers supplied in the kit and the nuts supplied with the awning, attach 
the awning to the vehicle. Do not tighten. 

8. Position the awning the in the desired position so that it won’t interfere with doors, adjust 
the awning brackets so they are evenly spaced from the rack and tighten all bolts. 

 
 

 

Roof cage 

Awning bracket 

Roof cage 
Mounting bracket 


